m Properties of Congruence

Reflexive Property AB = AB
LA=LA

Symmetric Property If AB = CD, then CD = AB.
If ZA = /B, then LB = LA.

Transitive Property If AB = CD and CD = EF, then AB = EF.
If /A= /Band 2B = 2C,then LA = /(.

Angle Addition Postulate Solve for x.

If ZAOC is a straight angle, then Given: m/ZCDF =75°
m/AOB + m/ZBOC = 180.

Postulate 1-8

i is in the interior of ZA0
they’m/AOB + m/BOC = m/AOC
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Postulate 1-6 Segment Addition Postulate

If three points A, B, and C are collinear and 4 _ “Z";f* —,
B is between A and C, then AB + BC = AC. C
Postulate 1-8 Angle Addition Postulate
If point B is in the interior of ZAOC, If ZAOC is a straight angle, then
then m2ZAOB + m/BOC = m/ZAOC. m/AOB + m/ZBOC = 180.
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Solve for x. Y
z
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Given: EX(isects) ZDEF

State the reasons that justify each step.

Step
EX bisects /DEF

Reason
olven

m/ DEX=m/XEF
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Given: X is the midpoint of AB o—X*+4
Prove: x=3 A

Step . Reason
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